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QUESTION 1

Which of the following are true about the NE ID of an ASON NE? 

A. Each NE ID must be unique in an ASON domain. 

B. The NE ID and IP address of an NE must be in different network segments. 

C. NE IDs must be set before the ASON feature is enabled. After the NE ID of an NE is configured, the NE will not warm
reset. 

D. NE IDs, NE IDs, and NE IP addresses are independent from each other. 

E. NE IDs and IP addresses must be in the same format. An NE ID cannot be 0.0.0.0,1.2.3.4, or 

255.255.255.255. 

Correct Answer: ABDE 

 

QUESTION 2

Which of the following is true about the ALM_GFP_dCSF alarm? 

A. The alarm indicates the out-of-frame state of generic framing procedure (GFP) frames. 

B. The alarm indicates loss of GFP client signals. 

C. The alarm indicates GFP protocol failure. 

D. The alarm indicates inconsistency in GFP working modes. 

Correct Answer: B 

 

QUESTION 3

Which of the following functions, when enabled, allows the transmitting laser of an optical port to be automatically shut
down when the IN port fails to receive signals? 

A. LCAS 

B. ALS 

C. ALC 

D. LPT 

Correct Answer: B 

 

QUESTION 4
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Which of the following may cause generation of discrete services in an NG-SDH system? 

A. Trail query conditions are not met. For example, the fiber connections created on the NMS are inconsistent with the
actual fiber connections. 

B. Trail query restrictions exist. For example, among the multiple sources and sinks of a VC-4 service trail, 

C. some are outbound optical ports, and the others are non-outbound optical or electrical ports. 

D. Cross-connection configurations are incomplete or incorrect. Outgoing services exist. 

E. The service trails created in an end-to-end manner is not activated on the NMS. 

Correct Answer: ABCD 

 

QUESTION 5

Which of the following about the conditions that trigger rerouting on NG-SDH equipment? 

A. R_LOS, R_LOF 

B. RSBBE, MSBBE 

C. MS_AIS, MS_RDI 

D. AU_AIS, AU_LOP 

E. HP_UNEQ, HP_LOM 

Correct Answer: ACD 
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